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fREET 10,280 10283 11,491 21,774
2 HH 1468)  1.6051 17561 33611 | 1@k | 26210 | 26,899 | 29.320 | 56,228
& FeET 3,160 3,118 3,315 6,433
HA P BT 2104 2,073 2,199 4272
KEHT 3.410 3,702 4,016 7,718
Jt ¢ T 852 817 891 1,708
AR | 49740 53001 5660l 10960\ | 1y | pg048 | 26,898 | 29328 | 56,226
S&t| 26248 26898| 29328 56,226
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KF K 5 £ 5 K=F T 5 = E KF Gkl 5 £ K
AN 1,227 1,287 1,411 2,698| | HEH 20 19 23 42 XA 25 21 25 46
[ 1,346 1,199 1,408 2,607 | REH 27 20 30 50 3] 0 0 0 0
= H 1,480 1,505 1,666 3,171 = 16 14 14 28 1A 396 416 485 901
25 1,354 1,388 1,526 2,914 L 13 8 18 26 A 653 737 787 1,524
RES 1,154 1,147 1,240 2,387 =B 6 6 4 10 RUEN 240 253 284 537
INEE 933 878 1,009 1,887 K= 148 215 227 442 =4H 84 65 101 166
I 268 253 302 555 E% B 114 122 114 236 ] 108 134 127 261
| 459 463 525 088 A 412 463 515 978| | £BE 120 144 163 307
FEX 384 417 438 855| | IHAIS 71 89 99 188| | HEE 174 171 183 354
fit] 5 244 228 281 509 | RiEFF 753 798 874 1,672| | EEE 35 41 38 79
A 1,431 1,518 1,685 3,203 &K 832 922 958 1,880 | FAEEE 37 42 46 88
BH 1,244 1,361 1,495 2,856 xB 865 804 883 1,687 5 444 442 427 869
e 224 244 261 505 mE 191 237 285 522 FR 316 332 373 705
&R 693 586 699 1,285 &I 24 52 61 113 =53 113 105 125 230
=YH 596 605 606 1,211 AR 236 269 262 531 JI| U 139 143 136 279
=25 1,871 1,927 2,010 3,937 EH 184 164 213 377 e $3 58 60 64 124
B 44 1,302 1,372 1,441 2,813 KiH 69 57 71 128 IR 1,073 1,166 1,200 2,366
g} 466 405 448 853| | BEA 23 20 17 37 % 984 1,049 1,121 2,170
| i= 230 205 201 406 | B AL 19 13 19 32
NEH 24 24 20 44 ¥ 296 273 284 557




